Welded Wire

Installation Instructions

ey g

f
db

TOOLS REQUIRED:

1127, 716"  3/4”

PAGE 1 of 12


llafontaine
Text Box

llafontaine
Text Box


Sample Layout

Anchor
PAGE 2 of 12

Door Transom
Panel

Wall Panels

Material List

Door
Strike Bar

Door

Ve,

Post

an 7 7 7
NN\ L ZTIT T 77
NN/ 77T T T 77
W ._._.. .....'ﬂ_._‘.b, JML“\

==

TAYA) /-

4\ ATy A
W.ﬂhﬁﬂﬂwxﬂ@@h\”l\wﬁ [/ -

Line

Post

Note: Panels are installed
from the inside of cage as shown

A MY Wl "
Y BTAN L/

Corner



STEP 1
Align posts.

STEP 2

Drill and anchor posts.

STEP 3
Check for plumb
and shim as needed.

Post Installation ;

=
AT
T\
i
| | /
fi'i'
i ;‘
. b
{l 'L [* ‘ I'H
ib /,-';/I..z
= /r/cﬁl 7
% “‘i//(
‘!L

PAGE 3 of 12



Panel Installation

STEP 1 :
Insert hook Outside cage
) ] 9
and slide down. o e i e o . O
o]
Inside Cage
Note: INSTALL all panels from the inside of
the cage.

Inside
Cage

r ¥y r yryy yr 3y sy ryg

oy 5y Fy b ¥y y y 5y 3 3 y J ¥

STEP 2
Insert and hammer
drive pin.

PAGE 4 of 12



Single Swing Door Installation

STEP 1 B! =t
Verify posts are plumb s
and distance between s

posts equals the door size
minus 2 1/2”.

-]
(Nominal f /
> -21/27) >

i
1o
.-—-—-—"""'"'"l‘
" Outside Side View
STEP 2 STEP 3
Attach door using Repeat step 2 with strike bar using
(3) 5/16” x 3” carriage bolts (3) 5/16” x 3” carriage bolts
[
| '@J (< Hardware
; | 1] =
Il ‘
: 516" x 3 5/16” Nut
L b6X 6X )

PAGE 5 of 12



Double Swing Door Installation

T

STEP 1

Attach header bar to

post using

(2) 5/16” x 3” carriage bolt

] Hardware
I r p
STEP 2 i
Attach each door using 5/16" x 3" 5/16” Nut
(3) 5/16” x 3 “ carriage bolt 8x 8x
I
|
l
|
Il [ l
o | |
l .
I
Q VE—— db
1 Side View

PAGE 6 of 12




STEP 3 STEP 4
Mark cane bolt location Drill hole deep enough to allow
cane bolt to be fully engaged

- l

»

STEP 5
Attach lock provided

| Jﬁ = !ﬁ:ﬁf}l ffT 1L T :
| L=
= [ 'J | -l
-

-1
—f-
- |-
4]
e
-4
=5

PAGE 7 of 12



Slide Door Installation

STEP 1
Attach track hangers using
(2) 5/16” x 3 1/2” carriage bolts per hanger.

STEP 2
A. Insert track into track brackets.
B. Tighten top bolts on track brackets.

A- E = a ] B-
STEP 3
Use (4) 1/4” x 1 3/4” carriage bolt . _Hardware §
to attach top and bottom splice bar. TR
F L - o o :
x 2 5/16” Nut
= B 10x
Note: Skip step 3
if you have a single panel door
1/4” Nut
6x  4x 8x 8x

PAGE 8 of 12



Slide Door Installation

STEP 4 P

Attach trolleys to the door.

O,
©

NREE:
=1 — | = = =
T
e

STEP 5

A. Align up door trolleys with track and slide door in . Note: leave door
in the center until step B is completed.

B. Install track door stop and bumper.

:::::::::::::

Note: Install bumpers

after sliding door in. PAGE 9 of 12



STEP 6

A. Anchor floor guide

B. Install standard lock

C. Attach door receiver and door guide using (4) 5/16” x 3” carriage bolt

:: SRt Raatas
iisssssaaanaRasasRaRaRd i nﬁm
= - b J L
A. )
AR B. o
Ir\_:.-.E.-.JI-- E"‘tr I s "':1 T.T T
jH i H A1
SO _k
g1 1 E - i |
|l ¥ == |
C. #F |
Hardware
s N ,,ﬁ ~N
N B
= v )
[ap] o -~
X = : 5/16” Nut
< = 10x
wH
E
1/4” Nut
6x 4x 8x 8x
\_ J

PAGE 10 of 12



Tunnel Door Installation
STEP 1

A. Attach track hangers using (2) 5/16” x 3 1/2” carriage bolts per hanger
B. Slide track into track brackets.
C. Tighten screw on top of track bracket to secure track.

STEP 2

A. Attach trolley to the splice top bracket.
B. Bolt door panels toghether using (8) 1/4”x 1 3/4” carriage bolt.
C. Attach casters to caster plate with (8) 1/4” x 3/4” hex head bolt.

A. B. B = =

——

Hardware

!
]

1/4 x 3/4”

5/16” Nut
8x

5/16” x 3 1/2
516" x 3
AR
1/4” x 1 3/4

114" x 1

1/4” Nut
4x  4x  2x  10x 8x 12x

7
PAGE 11 of 12




STEP 3 STEP 4
Attach assembly to the door Align up trolley with track and
using (2) 1/4” x 1 3/4” carriage bolt. slide in door.

Repeat step 6 on page 10

PAGE 12 of 12





